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1. Determine the waveform for the current i; of a 2- ;£ F capacitor for the applied-voltage v..
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2. Determine the wave form for the v, of a 0.5-H inductor for the current i,.
i (uA)
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3. BARBEHEREES (capacitor) 2 BEREEBR + RZABEZEBBE (capacitance) o 8%
¥ (V) i _cC dv,
15t C dt
15mA=c2V _ 0.5uF
10 i, () (mA) 5ms
sk 1.5
| ]
5 10 ¢ (ms) 5 10 ¢ (ms)

4. BTRRBHERER 1-mH ZERX (inductor ) 2 ERE - EHRIEHERCER i) ° 8% (
Es% iL(0)=0A) (FBIPEERIFES Ims~2ms~3ms~4ms -~ 5ms ZERE)
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V, = LOL; t=0~2ms 5V =1mH 10-0A ‘t=2~4ms 0V=1m|-|_10_1OA
dt 2ms 2ms

t=1ms i =5At=2msi_.=10A t=3ms i.=10At=4ms i_.=10A t=5ms i_=5A




